S.39/5

Nach oben gedffnete Normalparabel = a=1

(vgl. FS)
0=(-2)+b-(-2)+c
0=4-2b+c

p: y=x‘+bx+c

Ain p:

0=4-2b+c
0=16+4b+c

—-4+2b=c
-16-4b=c

= p,: y=x"-2x-8

Zur Zeichnung:
p i y=x"—2x-38

' NP
P y:(x_1)2_9
s, (1]-9)

piNp,
x* —2x—-8=—-x"-3x+3.25
x*—2x—-8+x"+3x-3,25=0
2x* +x-11,25=0
a=2;b=1,c=-11,25
—1%1> —4.2-(~11,25)
22

_—1£491

X =
1/2
4

X, =-263 v x, =213

Xijp =

Schnittpunkte: P1(-2,63

0=4"+b-4+c
0=16+4b+c

Binp:

—4+2b=—-16—4b

< 6b=-12 =c=—4+2-(-2)=-8

b=-2

P, y=—x>=3x+3.25

) NP, nach unten
p:ry=—(x+15)+55

S, (-1515.5)

L ={-2,63; 2,13}

4,18), P2(2,13|-7,72)
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